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For problem 1-4 , write in terms of step
~ functions and sketch the graph.

a 0D=s1<)
fH=3b (1=1<2)
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c Qs1)

1 0=t<))
fin) =1e' (1=1<2)
2. 2 2=1)
| 0=s1<))

fr) = {4:— 2 (1s1<2)
3. | 2=

0 0=r<1)
f(r) = ysinwt (1 51<2)
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For problem 5-14 , determine the Laplace
transform of the given function.

5.1 —u(t—1)

6.1 —2u(t— 1)+ u(t—2)
7. u(t— 1)t 1)

8. u(t — 2)(t— 2)*

9. u(t — m) sin(t — m)

0. u(t - 3) &>

11. u(?)

12. u(t — 2)¢

13. u(t — m)cos ¢

(1) = sint O0=r<m=m)

14. 0 (m=1)

For problem 15-24 , determine the inverse
Laplace transform of the given function.
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For Problems 1-12, find the solition to the given initial valie problem.

L.y=1—u(-1) 12. " + 2 +5y = 10 —10u(z - 1)
¥0)=0 y(0)=0

2.y"=1—2u(t —1) +u(t-2) y'(0)=0
¥(0)=0

3.y ty=u(t-1)
4.y" +ty=t—u(t-1)
uwiM=0
y'(0)=0
Sy"=1-u(t-1)
M0)=0
y'(0)=0
6.y +y=u(t-3)
H0)=0
¥'(0)=1
1.9 +y=u(t—-mn)—u(t—2n)
0= 0
y'(0)=0

¥ 4y =1 - uls E(: 7—')

. 2 2
H0)=0
Y(0) =0
9.y" +4y = u(t - 2x)sin ¢
W0)=1
y'(0)=0
10. y" + 4y =sin { — u(t — 2m) sin(¢ — 2x)
N0)=0
y'(0)=0
11.y" +y' +3y =u(t -2)
N0)=0
y'(0)=1
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